(RERFEIR - HERATDALER (PEIR)2020~ 2021 FFEEF_FHREXESEER
RERXEDO

1. C. 2. A, 3.D. 4 C. 5 D. 6. D
7. D. 8. B
9. 1. 10. 2. 11. —m
12, (2 +1)(x+1D)(x—1). 13. 3. 14. 2 599.
15. 241 H £ —2. 16, —2. 17. Q,R.
2 1 1
18. 27’1*1:7+(2n*1)n'

19. (1) —8+%ﬁ. (2) —1.
20, (1) 2% —2—3.

. 1
4b. (3) PR

(2) @+ 46> +1—dab+2a—

21. (1) —a(x—6y+3). (2) —x(a—y).
2. (LR, KA1

23. —2 020 o R Y s 5 0 BT iz Y s R AR A 5

BE B,

24. (49a-+0b) cm.

1 1./1 1 1010
5. () =3 X (775) @ ggp
26. (1) a' +4a®b+6a*0* +4ab®+0'.  (2) 32.

RERXEQD

1. C. 2.C. 3.D. 4. A 5 D 6. D
7. B. 8. D.

— X r
9. x=2. 10. 1,2,3. 11 28 1 3.

12. 8<<a<<13. 13. 2.

21, Z/DBFE 5 RAIRE N, A RERE MRS A A

TEARET 10 T e,

22. (1) m==+/5.
(2) #R:A=42 — A X1 X (—m? ) =4m? +16>>0.
23, L7 63 & A, 8 [AlkS.

1 _ — — R
14. k> 4JEL/e7ﬁO. 15, a<<—1. 24, (1) 171, (2) {17% ESZ{Ji 1,
10 y=2. y=—1""1y=2,
16. 2 020. 17. —. 18. —2. 3 19 21 o1
3 25 (D) 15 (2) *<J'<I. (3) = Téjyj,
19, (1) 2= (2) Bt ) m=2,m=—L ICRSE
20, —2<a<3, Kihh I THL. 2
BEREQ
LB, 22D 3. B 4 C 5 B 6 D : 2. (1) 2B, (2) —4<k<1 H kot0.
7. C. 8. C. 3
9. 2. 10. 28;—2. 11 2>2 & +<0. 23. (1) 400.  (2) y1=—80x+400.
12. >, 13. —9. 14. (3,—4). 15 —12. : (3) BREEIGRS 1% RS « #hid SR R EbR S
6 (L8 ma s 000, IR A MR N R SR B I
B P L) 24. (1) y=—"52*+1002+60 000,
1. (D k=2 (2) ROMBIRIL =B L o) st % 6,7,8,9,10,11,12,13, 14 i, 7]

(4.4 )s(—2,— D2, 1).

20. (1) —¢REEEL, y=—2x1400.

12 8007T.

21, (1) HR: 24 m=0 Y R U y=2 | L CT e
2 SUEBERRS « B RATRA(1,0) 0 o0 By | 9Ty RS 2 A
=m(x—1)?+2(x—1)=(z— D) [m(z—1)+2],i2 |
HS o RESRBUERR Y BIR VR ORI m BT o

B, Z ML S « B 22 T45(1,0).
(2) m=—2,—1,0,1,2.

(2) % B 5E % 120 TEA, FIE R A, AN |

| DUBRE T8 RAE 60 400 4D

25. (1) #oR: nRABTHEARFRA (m,m—1).
(2) b>—%
(3) bk 5 bRt 3 32 AR, m FIBUETE

—LES e e 142




EERXED

1.B. 2.C 3. C 4 B 5 C 6. B

7. B. 8. b

9. 90. 10. 9. 11. 1.6. 12. 1200. 13. 87.
s 17

14. 27" 15. 3 16. 16

17. y=3x+5. 18. %

19. (1) 50,4%,24,6%. (2) 21.6. (3) 344 A.

20. (1) “PgECh 82, hArEich 80, AREUZ 80.
(2) 89 47.
21 (1) Fra4ssRnA(5,5),(5,8),(5,8),(8,5),(8,

8).(8.8).(8,5),(8,8),(8,8).  (2) o

)

23 (1) . (2) BRAT H: ALK PO

B LS SR R 2 RUNT 5) =, PO
BT SR LR AT ST 5 =

2. (1) 5. (2) AT R ARG PORHME)

—L P(Z3RHE) =+ AT R — AN 2

IR Z AT 8, IR ZR i, 45 I Z 3R HE. (B 2R

25, (1) 15, (2) 2. (3) EEEETHMNATHE

7 8 X NATIN
22. (1) 5. (2) MBSHBUHRERR MY 2 1 (E2=F\
REXEG
1.C. 22A 3D 4B 5B 6B - ADBCRIAJITK.
7. A. 8. C | Zsmn
9. /DCF,/ECB. 10. 16. 11. 8 8
12, 4/3—4. 13, 1008 20°. 14, 2. el nucn aan
8 3287 oA ’ < “ Ly
15. 10. 16, 3. 17. 2+H/3. 18, —E==———. B¢ B
3 3 B C B C T e
9. /B=67.5. 20. JA=_/F 5 [l | E 1 E 2
AC// DF. (2) tnlE 2, & P RIAFEK.

21. AB=2BC. #£’r: n[iEABDC 25 = /.

25. (1) O AIFAABELAADE. Q4275 AliiF

2. (1) 52, (2) AD=12. - AFOM2AEOA.

= ‘ 1= 7
23. (1) B (2) O[i - ) 3 (2) y—ﬁ_l'<o<1.<7>‘
24. (1) & 1, A7 ABCD, SEATMB e

BREIXEOG

.LD. 22C 3D 4B 5C 6B : s 7
7. C. 8. C. 3 AADEDNACB, y=-x+ 5 (0<a<26).
9.70. 10. 75. 11. 2. 12. 9. 23. BHFRIEELY 15,9 m.
13. 38 6. 14 —1. 15 2/5. 16. 7+/3. 4. (502
17. (674,—1). 18, 6<<x<<8. (2) AE=EP,3&75: 7E AB FH(— 5 M, f BM=

19. (1) ZBUEAPLT 5 R,

O] @ ®

®

(2) n=8,9,10,11.

20. (1) A(2,2),B:(3,—2).

(2) A;(3,—5),B,(2,—1),C,(1,—3).

(3) As(5,3),B:(1,2),C5(3,1).

21. (1) 135;2/2.  (2) AABCHOADEF , F FHiE.
22. (1) W&,

(2) %AADEC/)AABC,y:%x(o<l<6);%

— 2

- BE, ¥ ME(E) , FIEAAME2APCE.

(3) Y m=n>2 B, AE=EP; 4 n>m>2 i} AE>

| EP; nin>2 it AE<EP. 275 PN | BC T4 N, &

3 */HA*E:@: n _ n(n—2)
AR EPTENT T 2md (m2)(n—2) T 2m—4
: m—2+—5
n—2
_n—2
m—2"

25. (1) P(0,5),M(8,1).

(2) % 045 B, S= 5 % 5 <8 if, S=
*%tz+10t*25.

(3) — AP AE DU A B 05 H, S8R5 31

(2.0).(12.8).(/55,0),(8— /3L.8).



